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SN ANHSEMYA
M JYBSSANLL 29
ool HEsSEHC (el &)
S2A-ZH () - HRAY - BES Oif &4 I E A Hw=sz
HBSSALA 327,489 360,675 233,186
NHESAEL 29 249,123 269,087 A 19,964
HHSS2AL 62,702 72,823 A10,121
HysS=e 28 29 39,620 47,527 AT,907
201 Lt 37,990 40,999 A3,009
02 Z3=2%tl 5,963 8,972 A3,009
O1 2223 2 AA 5,963 8,972 3,009
DRERS 5,963 8,972 A3,009
OYLLH(WEZ2 SWUDA)
2F 951,000¢ 951 3,960 A3,009
202 04 H 1,630 6,528 A4,898
01 2U 044l 1,630 6,528 ~4,898
OxNgssE gexu ZX 1,630,0002 1,630 6,528 ~4,898
HHANR 29 16,782 18,996 N2,214
202 01| e 2,304 N2,214
01 ZLHOAHI 9 2,304 N2,214
OHeg=2 =& 23X 90,000¢ ey 2,304 A2,214
2 AL22 136,721 146,564 A9,843
FOIZAL 2 A&DH (012X SE 2L 97,110 102,753 N5,643
201 LBt 51,510 57,153 A5,643
02 3229l 32,811 38,454 N5,643
012222 2 AA 26,211 31,854 A5,643
DRERS 26,211 31,854 N5,643
ORNSIZA LS A ZA 10,197,000 10,197 15,840 A5,643
RLHOINUYX YL PEE2HMA AFH H 2 39,611 43,811 24,200
202 04 H 2,328 6,528 24,200
01 2041l 2,328 6,528 24,200
OSAMZYR =7 BE 456,000 456 3,456 23,000
OZANER =X ZX 1,872,0002 1,872 3,072 A1,200
HY2YHH (HBE=AGL) 78,366 91,588 ~13,222
013 2%y 49,902 62,548 ~12,646
ol 2 49,902 62,548 A 12,646
101 Q12| 49,902 62,548 A 12,646
01 82 49,902 59,902 A 10,000
OAAZ R4 ZX 49,902,000& 49,902 59,902 210,000
03 RIAHA22XE 4 0 2,646 N2,646
oeix224Y 0 2,646 N2,646
DHPLULA(NBSELX) ZH 02 0 2,646 N2,646




SN HYSSBAYL
Ha: HYPYAH (HYSSALL)
Sl Jl= A CERED
& HH -G () - HEMY - BdS Off &F o4 I E M Husz
o= 28,464 29,040 A5T76
IR 28,464 29,040 A5T76
202 04l 224 800 A576
NIETCEL 224 800 A576
O=2l01Hl AH 204,008 224 800 A5T76




